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(a) Multiple Choice (20%)
1. The two optional steps in the accounting cycle are preparing.
(a) a post-closing trial balance and reversing entries.
(b) a work sheet and post-closjng trial balances.
(c) reversing entries and a woik sheet.
(d) an adjusted trial balance and a post-closing trial balance.

2. If unearned revenues are initially recorded in revenue accounts and have not all been earned at the
end of the accounting period, then failure to make an adjusting entry will cause
(a) liabilities to be overstated.
(b) revenues to be understated..
(c) revenues to be overstated.
(d) accounts receivable to be overstated.

3. When the allowance method of recognizing bad debt expense in used, the entries at the time of
collection of a small account previously written off would
(a) Decrease the allowance for doubtful accounts.
(b) Increase net income, ‘
(c) Have no effect on the allowance for doubtful accounts.
(d) Have no effect on net income.

4. On December 31, 2002 Gill Company sold a plant facility to Cox Inc. for $2,100,000 when the
plant had a carrying amount of $1,400,000. Cox paid $300,000 cash on December 31, 2002, and
signed a $1,800,000 note bearing interest at 10%, payable in six annual installments of $300,000:
Gill appropriately accounts for the sale under the installment method. On December 31, 2003,
Cox paid $300,000 principal and $180,000 interest. For the year ended December 31, 2003, what
total amount of income should Gill recognize from the plant sale and financing ?

(a) $0

(b) $100,000
(c) $180,000
(d) $280,000

5. Terry Inc. is a calendar-year corporation whose financial statements for 2002 and 2003 included
errors as follows: : :

Year Ending inventory Depreciation expense
2002 $15,000 overstated $12,500 overstated
2003 5,000 understated 4,000 understated

Assumed that purchases were recorded correctly and that no correcting entries
were made at December 31, 2002, or at December 31, 2003. Ignoring income
taxes, by how much should Terry’s retained earnings be retroactively adjusted at
January 1, 2004

(a) $13,500 increase.
“(b) $3,500 decrease.

(c) $1,500 decrease

(d) $1,000 increase

6. AATheatre recently purchased the BB Theatre and the land on which it is located. - AA plans to
raze the building immediately and to build a new modern theatre on the site. The cost of the BB
"Theatre should be
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(a) Written off as an extraordinary loss in the year the theatre is razed.

(b) Capitalized as part of the cost of the land.

(¢) Depreciated over the period from the date acquisition to the date that the theatre is to be razed.
(d) Capitalized as part of the cost of the new theatre,

7. Assuming no beginning inventory, what can be said about the trend of inventory prices if cost of
goods sold computed when inventory is valued using the FIFO method exceeds cost of goods sold
when inventory is valued using the LIFO method ?

(a) Prices decreased.

(b) Prices remained unchanged.

(c) Prices increased.

(d) Price trend cannot be determined from information given.

8. How would a stock split affect each of the following 7

Assets Total stockholders'equity  Additional paid-in capital
(a) Increase Increase No effect
{(b) No effect No effect No effect
(c) No effect No effect Increase
(d) Decrease Decrease Decrease

9. Treasury stock was acquired for cash at more than its par value, and then subsequently sold for cash
at more than its acquisition price. Assuming that the cost method of accounting for treasury stock
transactions is used, what is the effect of the subsequent sale of the treasury stock on each of the
following ?

Additional paid-in capital Retained earnings
(a) Increase ' Increase

(b) Increase No effect $ﬁﬁ{§‘ WEEpR] -

(c) No effect No effect
(d) No effect ‘ Increase

10. At the end of the first year of operations, the total cost of the trading securities portfolio is $120,000.
Total fair value is $115,000. The financial statements should show:
(a) a reduction of an asset of $5,000 and a realized loss of $5,000.
(b) a reduction of an asset of $5,000 and an unrealized loss of $5,000 in the stockholders’ equity

section.
(c) a reduction of an asset of $5,000 in the current assets section and an unrealized loss of $5,000

n “other expenses and losses.”
(d) a reductlon of an asset of $5,000 in the current assets section and a realized loss of $5,000 in

“other expenses and losses.”

Z. Prepare the appropriate journal entries to record the following transactions
during 2003 for the Min Corporation. (18%)

Jan. 5 Purchased merchandise for $12,000 on account. Credit terms:2/10, n/30; FOB shipping
point. The company paid freight bill of $200 for merchandise purchase and the company
uses the perpetual inventory method.

Jan. 15 Paid for merchandise purchased on Jan. 5.

Feb.5  Sold merchandise which cost $8,000 to John for $13,000 on account.  Credit terms:
2/10, n/30. _ ’ .

Apr. 1 Exchanged old store equipment and $12,000 for new store equipment. The old store
equipment originally cost $18,000 and had a book value of $10,000 on the date of
exchange. The old store equipment had a fair market value of $13,000 on the date of
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exchange. Assume depreciation on the old equipment has already been recorded for the
current year.

Aug. 10 Purchased 40,000 shares of Min Corporation’s common stock for $75 per share to be
held in the company’s treasury.

Sept. 13 Sold 8,000 shares of treasury stock for $77 per share.

Dec.20 Declared a 10% stock dividend on the common stock, payable on Jan.15 next year, to
stockholders of record on Dec. 31. The company had 180,000 shares common stock
issued and 148,000 shares outstanding, no par, $50 stated value. The market value was
$78 per share today.

Dec. 31 Use the following information for year-end adjusting entries.

(a) The balance of Accounts Receivable and Allowance for Doubtful Accounts at
year-end are $90,000 and $2,800 respectively. It is cstxmated that bad debts will be
5% of accounts receivable.

(b) The beginning balance in the Office Supplies account was $250. During this year,
office supplies costing $525 were purchased. A physical count of office supplies at
Dec. 31 revealed that was $180 still on hand.

=. The comparative balance sheets for Kessler Company appear below:(20%)

KESSLER COMPANY
Comparative Balance Sheet

Dec. 31, 2003 Dec. 31, 2002

Assets - .
Cash $23,000 $12,000 . _
Accounts receivable ‘ 18,000 14,000 .-
Prepaid expenses 6,000 9,000 )
Inventory : 27,000 18,000
Long-term investment in bonds -0- 18,000
Equipment 60,000 30,000
Accumulated depreciation-equipment (18.000) (14,000)
Total assets $116.000 87,000
Liabilities and Stackholders’ Equity :

Accounts payable $21,000 $9,000
Bonds payable 37,000 45,000
Common stock 40,000 23,000
Retained earnings 18,000 10,000

Total liabilities and stockholders’ equity $116,000 $87.000

Additional information:

1. Net income for the year ending December 31, 2003 was $20,000.

2. Cash dividends of $12,000 were declared and paid during the year.

3. Long-term investments in bonds that had a book value of $18,000 were sold for $16,000.

Instructions .
Prepare a statement of cash flows for the year ended December 31, 2003, using the indirect method.
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